Chap4. 0 O0ODO OO DOOO ODOO

4-1. 000
ob boo0o 0D Ooob - 0bobbo boob booo

i{xnd_-r} -0
dx dXx

00 0000 000 0obO OO0 Oob, 000 OO0 Fouier OO0 ODQOOO OOODO O
o0 bo0o 00O 0o o oo.

1. 000
00 420 OO0 OO0 OO0 OO OO0 OO0 OO O OO.
OO0 00O
d’T
2=0
dx

oo
Fourier OO O ODOO

ooo od

_agekalli-To)
Q=Aq=KkA C

OO0 OO0 O0O0OODoOO ohmslaw OOO OO



Current(l) = Dr|V|lng Force(V) - Ohm's Law
Resistance(R)

DrivingForce(AT)
Heat Transfer Resistance(R)

Heat Transfer Rate(Q) =
god goo
R=—0 oo

Ak

2 000,000 OO0 O0OODO,000 OO0 DODOO OO (oo 43
0 0obd obb 00 0ob boo 0 booboo oboo.

00 000

2

dI=O

dx

oooo

T=T, a x=0
daT

—k&:hzlm(T—szm) a x=L

00 000 000 00 00 0000 000 OO0 O O00.

00 000 0000 0000 000 000 OO0 00 00 0 00.

0000 00O

000 OO0 000 00 =000 00 000 00 =Q0 0 0 00.000
Q:kA@ 000 00 000 00@O0 00 T,0 00) @

Q=h_A(T,-T,,) : 000 00 OO0 00@OO00 00 T,0 00) (b

o0 bo0o 0og Oob booo.
QL
kA T

Q _+_
h,A 2 72

ob bog obd




oo T,0 000 OO0 0O 00 00O @0 (O ODDOOO 0O0O0O O.
o0 0ob 000 o0 obo bo oo, 0obo OO0 OO0 ob obo oo ooo

L
Ryw=—,000 00 00O R_,= OO0 OO, OO0 Driving Forcel OO OO
Ak

02
o T,-T.,0 00,00 Ry,,O R_,0 00 000 000 O O OO.

3.000,0 OO0O0O OO0 OO0 0O0(@O 440 O0).
OO0 00O
d’T
2=0
dx

gpogno

dT
—kd—:hlm(Twl—T) a x=0
X
dT
—kd—:hzm(T—sz) a x=L
y ,
00 000 00O OO o0 ooobo oobo oo o oo.
00 000 0000 0000 000 ooo oo oo oo o gog.
gooo ooo
oo 0ooo 000 OO0 000 OO0 =000 oo oob Oob =000 oog ooo

o0 000 00O =Q0 O 0O bObO.0bd

Q=h_A(T,-T,) : 00 000 D00 OO0 000 0O(@O T,0 00) ©
Q:kA@ 000 00 000 oo@o T, T,0 00) (d
Q=h_A(T,-T,,) : 000 OO0 000 OO0 OO0 00@O T,0 00) @

o0 bOo0o 0oo Oob booo.



=T, -T
h,A % 7

oo bog oobg

Q 1 +iL+ 1 =T.-T,,
h,A kA h_A
T.—

Q- Tz

1 L 1
[hmlA KA hmzAj

oo T, T,0 000 000 0O 00 000 (0 (@0 0000 0000 O0.(@00 42
oo)

go oooboob oob ob oob o bo. boobob oob ob ooo

L
leZ , oo o0oo oood Rgab:_! goo ooo ooo oo ooo
Ah_, Ak
Rmzz 0 ood.o0obo0 o0 ooo o0 oo ooo boo o ao.
Ah_,
Q To<>1 — TooZ To<>1 — TooZ

"RL+R.+R_, Vh_A+L/kA+LUh_A

4. 00 0O 0O OO

oo 450 OO0 000,00 000 0O OO0 0obOo oo 0O Do,
oo bodgo

dr{ dr

Doo0o
T=T, a r=a
T=T, a r=b

o0 00 o0 0obo ob 0o oob bo 0 oo,



_1 . In(/a)
T=T,+ ln(b/a)(Tz—Tl)

oo
Fourier OO0 OO0
9T k(T,-T)

= T In(b/a)

000 o0

o Ck(T,-T)|_ 2nkH
Q_qA_(anH){ rIn(b/a)}_In(b/a)(T2 ™)
000

2nrH _ 2nH(b-a) 1 A, -A, 1_, 1
In(b/a)  In(b/a) (b—a) In(A,/A)Ar ™Ar
000

— (TZ_Tl)

Q_kAIm Ar

00 000 000 0000,000 0O 000 legd000 0OO0O00 O000.000 00
00,000 00 000 000
Ar

R,=—— 0 00.
Im
(00 43)
(0O 44)
00 000 000 oooo oo ob oobooo oobo ooo oooo,
Q=A.q,
000 0o ooo oood
T,-T
Q:kAIm(2 l)
Ar

0 obd oo ob,0b00 oob boob bobb oo ooo.

(x) OO ODODO0O OO0 DOO0O0O OO0 a0 bO OO O ODOO0ODO O OOoO ooo T1
O TZDD.DDDD Oo00 00 OoOoo Ooo oooo oo o

k=K, (1+BT)

000 00000 O0o0O0 oo0o ooo ooo.



(O0)Fourier 100 OO0

dT
=—k(2mrrL )—
Q=—k(2r )Olr

o0 0DO00bo ooobd

Q=—k,(1+ BT)(zan)z—I

o0 booo oooboo

Q
2nrL

dr =—k, (1+BT)dT

b Tz
Q i=—k0j1+[3To|T
2L s r L

gpogono

_ 2nlk, B (2 )
Q—m[(T1_T2)+E(T1 _Tz )}

_ 2nlk, +E N B
Q- gl 1B )| -7,

Kag = k0(1+%(T1+T2)jD 0 oo

AT
Q:kanAgm— 0000 00 0000 00 O00o0.
Ar

5,00 0O O0O,00 OO0 OOO OO OO (mo 4e).
00 000 000 0O0.00 OO0 U0 OO0 DOoUobOOo Dobo oo ooo.
Q:hmlAa(Twl_Tl)
(Tl_TZ)
Ar
Q= hmzAb(Tz _Tmz)

Q:kAIm

Q= Ta-To — Ta-To,
R.,+Ry +R.; 1h_,A,+Ar/kA,, +Vh_,A,

(00 45 0 00000 OO OOO OO0 OO0 OO0 0000 0000
Q= T -T., — L-T.,

R, +R., Ar/KA,, +Th_,A,

00 000 O O0.




6. 00 O O
ob 470 OO 0OO0O,00 OO0 OO0 OO0 ObOo oo O oo,
oo b0od

E[rzd—Tj:O
dr dr

00 00 00 000 00 00 000 00 O O0.
T:E(—b_rol+E(—r_a]T2
r\b—a rib-a

go
Fourier OO0 OOO

dT k

ab
B (1T
dr rb—a(2 )

ogoo od

Q=0A = (4mr’ {%abM} ka2~ o)
r b—a b-—a

gogd

4mab =+/4ma® V4anb® = A A, =A,

gogd

(T,-T)
kA V2T ')
Q Mmoo Ar

o0 000 0obo oooo, b0 0 Obo o0 ODbob boOob boOo.bOoo O
gb,ddb 0o obo ooo

Ar

R = 0 oo.

agm

(OO 46)



700 0O 00,00 OO0OODO ODOO OO oo @o 48).

o0 bo0o 0obo 0ob.00 000 Oob b0 obob boob bo ooo.

(Tl _Tz)
Ar
Q= hmzAb(Tz _Tmz)

Q: kAgm

Q= L-T., — Ta-To,

Ren +R., Ar/KA,, +1h_,A,
(oo 47
4-2. 000

1. 00 000 @O 4-9)

ogoboQo 0obob b0boo 0ob bob 0o O oobo oob oob b bog.

1
00 0ooo 0o ooo goo: lez
Ah_,
Ll
10 OO0 OooOooOo oo ooo oo . R1=
Ak,
L2
20 00O OoOoOoo oo oob oo . R2=
Ak,
L3
30 00 0ooo oo ooo oo R3=
Ak,
1
000 oooo oo ooo oo: ngz
Ah_,

o0 boob OO0 Oobo oobobo ob oo e RT=ZRi

(OO 48)
(@O 49)

2. 00O OO O OO@O 410

o0 ob 0obg boob, b000bo b0 bob oo 0ob O goo

0o oo oo

(OO0 410)

log 00 OO



(OO 41)
() OO0 0O0OODO0 r,0 0000 OO0 00 0O00O0 r,0 0000 0000 00. 0

ooo oo T,0 00O OO T,0 O0O0O0O.000 DOOOO OO ODOO O 00O
oboo oo obg o go.

0o ob bobb 0oob bo o0ob 0oob boo oboo.

ERERN

T.

0000 OO0 000 000
o LT
Ry +R.
_Ar_In(ry/r,)
YT KA, 2rkL

1 1

R =—=—"—
hA  h2mr,L
oo
_2nL(T,-T.)
(e, r,) ke,

Q0 r,0 000 00.0000 000 00000 000 000 000 000 00O
0. 000 QU r,0 OO OO0 OO0 OO0 00O 0000, 000 O 0000
dQ/dr,0 0D OO0 0O OOO0.O0O0O0 dQ/d,0 OOO OO0 OO0 O0O.



dQ kr, hr?

dr, 1 (r 1

s L I

k \r,) hr

00 00

1 1 dQ

—-—=000 —=00 000 QI r,0 OO0 OO0 OO0 OO0 OO0 0000
kr, hr, dr,
0DO0000 0000 D000 000 O0. 000 000 000 D00 0O 000
dQ k k

d—=ODD,D r3=FD oooo. O r3<FD DO0000 0DOO0O0 000 000 O
r3

o0 bo0 0obob OO0 0obo.0b0o obb 0o 0O Oobo oo ob oo,

3. 00O oo 0o o
o0 oo bob oobo, boobo 00 0Obo OO0 b0bo O bob OO bo b
oo b0Od oo

4, 00O 0O0OO OO
Q:(UA)ATD o0 vubh 00 bob 0o0ob ob.0bo boob oob obo oo
ob0o oobdg ooboo

Q=(UA)AT = AT
RT
ggog
1
UA)=—
(UA)=

T

o000 0o Oob0 Oooo OO0 oobO Ooodoo ooo.ooo oo oobo oooo
0 0000 0o OO0 000 000 oo oo oo.o0o0b0 oo oobo ooo oo
0 00 Oo00O OoboOo oo oo oooao.

1

R_:UaAa:UbAb

.
(OO0 412)

4-3 000 OO
gooo oob 0bo boboo 00 0o, 0bo boboo Ooob obo boo



oo 0O 0Od.

44000 OO OO

o000 OO0 OoOo oood

Q=kSAT

O 000 0o 00 o0, o000 OO ooo oo.
o000 Ooooo oo

AT
_ksaT=AT
Q R
OO0
k=L
R
o000 Ooooo
L oops=2
KA L

o0 boob bob 0O 0o0b bo obo O 410 boob OO,

4-5.Fin
OO0 OO0 OO Fin

t ™

— >

l og:pP
Oooag:A
X X+AX

Input:x=xJ OO 000 AD OO 00 (gA),

Output: x=x+Ax0 OO 000 AD 00 0O (gA)

x=x00 :x=x+Ax 000 O0O0(@)J 00 00 : Sh(T-T.)=PAxh(T-T.)
gdoooogd Input=Output

(qA)|X = (qA)|X+AX +PAXh(T-T.)
000 AxO OO0 AxO o0 OO0 ooo gogg

9 (gA)=Pn(T-T.)

o



FourierD OO0 OODOO

—i(—kAd—Tj=Ph(T—Tw)

dx dx

FinD 000D kO OO0 AD 00000 OO0

2

dI—E(T—Tm)=O

dx“ kA

0=(T-T.), m =220 0o
kA

2

d?— ’9=0

dx

00 00 000 000 0000 00,0000 6=C,exp(mx)+C,exp(-mx)0 O
00 00 6=C,cosh(mx)+C,sinh(mx)0 O OO0 0O0. 000 000 00000 O
00 00 00 0000 xO0 000 000 0O00 0000 000 000 00000 O
00 x0O 000 000 000 0000,

goon
FinO OO00O0O0O OO0 OO0 OoOoooo
x=000 0=(T,-T.)=6,

o000 0bob OO0 0 0obo go

dT de
x=LOO —=—=0
dx dx

ufals

0 =C, cosh(mx)+C,sinh(mx)0 0O
00 0 00000 0000

C.=6,

000 00000 0000
0=6,msinh(mL)+C,mcosh(mL)
C, =—-6, tanh(mL)

000
0= eo(coﬁw(mx)—%gnh(mx)j _ com(mL)com(L?));l(r:C)r](mL)Q nh(mx)
_g COsh m(L —x)

°  coshmL



FinO OO OO0 OO
(x=0O00O 00O OO ODObO Ooh)=(krn 00 ODODO OO OO ODOO0 O0)

Q=—kAd—T -ka® 000 0o ooo oo
dX x=0 dXx:O
L

Q:thedx
0

o0 0 00 000 00 O Oobo oob oo,

Q= Ak@,mtanh(mL)=6,+/PhkA tanh(mL)

Fin OO, M

e Qs _ 0,VPhKA tanh(mL) _ tanh(mL)
Qi PLhO, mL

=1 mL<l
M= = mL>>1

FnD 00 OO0 000 OO0 FAn OO0 OO0 Fnd 0000 OO0 000 0000
00 Q.0 000 00 FnDOOO 000 00 O 00.

(@0 417)

(00 419)

FinO OO O OO OO DOOO

Q,=(Find0 0D 000)+(Fn 000 000 OO 00D0)
Q, =nha;8, +a,h6,

a =Fin0 00O

a,=Fn 000 0O

FinO OO0OO OO0 OO0 O0O@Oo RnO O0O)

—E(— kAd—Tj: Ph(T-T_ )OO
dr dr
A=2nrt ¢t OO0 OO

P=2nrx2 : 00 00 OO0 OO0 OO0 OO



FinO OO0O0O0O OO0 OO0 oDoOoood
r=roo0 0=(T,-T.)=6,

0000 0000 000 O 000 00
dr dé

r=r+L00 —=—=0

dr dr

00 000 00 4170 000 O0.

(OO 418)



